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1 Problem Description

1.1 Assignment 5.1

The isoparametric definition of the straight-node bar element in its local system 7 is,

1 1 1 Nf(ﬁ)
Ty Tz T3| [N(E) (1)
up uy us| | N5(€)

gl 8~
I

Here ¢ is the isoparametric coordinate that takes the values -1,1 and 0 at nodes 1, 2 and 3 respec-
tively, while Ny, N5 and Ny are the shape functions for a bar element.

For simplicity, take 71 = 0, Ty = L, T3 = é + «aL. Here L is the bar length and « is a pa-

rameter that characterizes how far node 3 is away from the midpoint location T = %

Show that the minimum « (minimal in absolute value sense) for which J = dz/d{ vanishes at
a point in the element are ii (the quarter points). Interpret this result as a singularity by showing
that the axial strain becomes infinite at an end point.

1.2 Assignment 5.2

Extend the results obtained from the previous exercise for a 9-node plane stress element. The
element is initially a perfect square, nodes 5, 6, 7, 8 are at the midpoint of the sides 1-2, 2-3, 3-4
and 4-1, respectively. Node 9 is at the center of the square.

Move node 5 tangentially towards 2 until the Jacobian determinant at 2 vanishes. This result
is important in the construction of "singular elements” for fracture mechanics.

2 Solution

2.1 Assignment 5.1

For a 3-node isoparametric bar element, the node coordinates are defined as:

& =-1 =1 =0 (2)
Therefore, the shape functions take the form:
1 1
MO =36€-1) MO=3¢E+1) Ne@=1-¢ 3)
and the corresponding derivatives:
dNy 1 dN, 1 dN3
—— == —S =4 — = -2 4
3 2 3 2 3 @)

Now, from equation (1) we know that T can be expressed as a function of £ as:
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We may then obtain the Jacobian by deriving = with respect to &

3

_dr _dN;(§)
1
J=1(5 — 20¢) (7)

Now, in order to find the minimum absolute value of a for which the Jacobian vanishes, we force
the value of left hand side of equation (7) to zero. Therefore, we must find the value of « for which
the following equality is fullfilled.

2045:% — a:i% (8)

Applying absolute values on both sides of the equation yields:
11
al =4 )

The minimum absolute value of o will correspond to the maximum absolute value of £ since they
are inversely proportional. Taking into account that —1 < ¢ < 1, a becomes:

ol =5 o |a=xl (10)
A=y ‘=]

We are now interested in analyzing what happens to the strains when « takes this value. Axial
strains in 1D are given by:

du_ dudg [ du

s zn | @ ()

3

It is evident that when o = j:}p the Jacobian is zero and the axial strains become infinite. Therefore,

o= }l is a singularity for this problem. Node 3 must remain within the central third of the element

to avoid this.

2.2 Assignment 5.2

The shape functions for an isoparametric formulation of the described element are:

M= 0-00-ne  Ny=—30+90 -0y (12)
Ny= (1 +O1+men  No=—(1 -1+ (13)
No=—3(-&)1-nn  No=30+6)1-7) (1)
No=s(U-@)+mn  Ne=—5(1-61-) (15)

No = (1= €)1~ ) (16)
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For -1 <¢<land -1<n<1

In the physical domain, the coordinates of all 9 nodes are:

Node [1] 234 5 6 1] 7 8] 9
x |O|L|L|0|L/2+aL| L |L/2] 0 |L/2
y |0[0|L[L 0 L2 L [L)2[L/2

Table 1: Node coordinates, 9-node quadrilateral
By extending equation (1),  and y may be approximated as:

T = inNi(f) y= Z%Ni(ﬁ) (17)

Then, by deriving x and y with respect to £ and 7, the Jacobian in 2D may be computed as:

dz dy
d¢  d§
J = (18)
dz  dy
dn dn

Now, we will compute the Jacobian for the cases & =0 and 0 < o < 1/2. On the second case,
we will seek the value of o for which the Jacobian determinant vanishes at node 2. Appendix A
displays the Matlab code implemented for the following computations.

) ?n tl?is case, the coordinates for node 5 become (£,0). Applying equations (18) and (19)
yields:
r=ZE) y=cm+) (19)
L
-] == (20)
0 3
e 0<a<1/2

Node 5 is displacing towards node 2. Therefore, the value of o must be positive and it cannot
exceed 1/2 for node 5 to stay within the lower edge of the element.

xZ%(€+1)(n2—n+§n—£n2+é) y=§(77+1) (21)
& (2577 —260° + i) 0
J= (22)
—FE@-DEn-1) 3
L2
1= 2 (260 - 2607+ ) (23)
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Making the left hand side of the equation go to zero yields:

1
o0=—- (24)
26n(n —1)
Replacing ¢ and n with the coordinates of node 2 (1,-1), o becomes:
1
a=- (25)
Just like in Assignment 5.1, a = }1 represents a singularity since it makes the Jacobian

determinant go to zero. This means that for the 2D quadratic quadrilateral case, the nodes
located on the edges of the element must remain within the central third of the element, as

they must in the 1D case.

A Appendices

A.1 Matlab Code

clear all

clc

% case 1

syms L xi eta
assume (L, 'positive')
assume (xi, 'real')
assume (eta, 'real')

alpha 0;

o\

case 2

o\

syms L xi eta alpha
assume (L, 'positive')
assume (xi, 'real')
(
(

o o

o\

assume (eta, 'real')

o

assume (alpha, 'real')

o\

NODE COORDINATES IN PHYSICAL COORDINATES
= [0LLOL/2 4+ alpha*L L L/2 0 L/2];
[00LLOUL/2L L/2 L/2);

=X
I

o\

SHAPE FUNCTIONS ISO—9
N=[1/4x (1—x1) * (1—eta) *xixeta;
—1/4% (1+xi)* (1—eta) *xixeta;
1/4% (1+x1i) = (1+eta) *xi*xeta;
—1/4% (1—x1) * (1+eta) *xi*xeta;
—1/2%(1—x1"2) x (1—eta) xeta;
1/2% (1+x1) * (1l—eta”2) xx1;
1/2x(1—x1"2) x (1+eta) xeta;
—1/2%(1—x1i)x (1—eta”2) xxi;
(1-x1"2)*x (1l—eta”2)1"';

% SHAPE FUNCTIONS DERIVATIVES
dN_dxi = [1/4* (eta*(1—2*xi)+eta”2* (2xx1i—1));
—1/4x (eta* (1+2*xi)—eta 2 (2+xx1i+1))

14
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1/4% ((1+42%x1) * (eta+teta”2));
—1/4x ((1—2*x1) * (eta+teta”2));
—1/2% (2*xixetax (eta—1));

1/2*% (1l—eta”2+2+xx1i—2*xxixeta’2);
1/2x (—2*xixetax (eta+l));

—1/2*% (l—eta”"2—2*xi+2*xxixeta”2);
2xxXi*x (eta”2—1)1";

dN_deta = [1/4*(xi*(1l—2*eta)+xi" 2% (2xeta—1));
—1/4x (xix (1—2xeta)+xi"2x (1—2*eta));
1/4% ((1+2%eta) » (x1+x172));
—1/4% ((1+2*eta) » (x1—x1"2));
—1/2x (1—2+xeta—x1i"2+2+x1"2xeta) ;
1/2*% (—2xxi*xetax* (xi+1));
1/2% (1+2xeta—x1"2—2%x1"2*eta);
—1/2% (2xxixetax (xi—1));
2xeta*x (x1i°2-1)1";

o\

X = X_1+N_1i
x_s0l = simplify (sum(simplify(x.x*N)))
y-sol simplify (sum(simplify (y.*N)))

dx_dxi = simplify (sum(simplify (x.*xdN_dxi)));
dx_deta = simplify(sum(simplify (x.*dN_deta)));
dy_dxi = simplify (sum(simplify(y.*dN_dxi)));
dy._-deta = simplify(sum(simplify(y.*dN_deta)));

% Jacobian
J = [dx_dxi dy_-dxi;
dx_deta dy_detal;

Jac = det (J)
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